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2. A marble and a stone were lowered into two displacement cans as shown in Set-up 1
and Set-up 2 respectively. The displaced water‘was collected in the measuring

cylinders as shown below.

— displacement can — displacement can

water —1==

- E ‘}_‘ measuring measuring
A " cylinder stone cylinder
- _
1. 20cem® 20 cm?®
_' Setup 2
This activity shows 't'hat the marble and stone have the
A) same mass
v B) same volume
C) same mass and volume
D) same mass but different volume
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 29th Jul 2020
Last Modified: N/A
QID#: 22,719,750
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The diagram below shows two identical balls, X and Y, filled with the same amount

of air and placed on a balance.

Ball X ' Ball Y

Another 200 cm? of air was pumped into ball X but ball X did not increase in size.
Ball X was placed onto the balance again and the balance moved as shown in the

diagram below.

BallY

Ball X

What conclusion(s) can be made from the observations shown?

A Air has mass.
B Air can be compressed.
C Air has no definite volume.

A) AandB only
B) Aand Conly
C) BandConly

v D) A BandC

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 29th Jul 2020

Last Modified: N/A

QID#: 22,719,763
Question 4 Primary 4 Science » Primary 4 Science (Term 1) 2 pts

Which one of the following diagrams correctly shows how the Moon reflects light so that the people on
Earth can see the Moon?

A)
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B)

C)

v D)

https://www.classmarker.com/a/tests/test/?test_id=1459101&trk=edittest_inrow_edit 4/15



7/17/2021 ClassMarker - Manage Test

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 29th Jul 2020

Last Modified: N/A

QID#: 22,719,801

Question 5 Primary 4 Science » Primary 4 Science (Term 1) 2 pts

Janelle set up an experiment as shown in the diagram below. A shadow was cast

on the screen.

transparent
plastic sheet
screen

Which one of the following shadows would Janelle see_on the screen?

A)

B)
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v C)
D)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 29th Jul 2020
Last Modified: N/A
QID#: 22,719,838
Question 6 Primary 4 Science » Primary 4 Science (Term 1) 2 pts

Randall set up the experiment below to investigate how the positions of the torch,

object and screen would affect the size of the shadow formed.

screen

He observed a shadow of the object formed on the screen. In order to increase the

size of the shadow, Randall should

A) use a larger screen

https://www.classmarker.com/a/tests/test/?test_id=1459101&trk=edittest_inrow_edit 6/15


https://www.classmarker.com/a/tests/qb/manage/?test_id=1459101&question_id=22719838
https://www.classmarker.com/a/tests/qb/manage/?test_id=1459101&question_id=22719838&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1459101
https://0cm.classmarker.com/6226088_87UU1E9R.jpg

7/17/2021 ClassMarker - Manage Test

v’ B) move the object closer to the torch

C) move the torch away from the object

D) move the object closer to the screen

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 29th Jul 2020

Last Modified: N/A

QID#: 22,719,849
Question 7 Primary 4 Science » Primary 4 Science (Term 1)

The following flow chart is used to ciassify'three matter, A, B and C.

Matter

'

Does it have a
definite shape?

Does it have a
definite
volume?

Based on the information given, what could substances A, B and C be?

A) |substance A |Substance B | Substance C

green beans |oll pencil

B) [Substance A |Substance B |Substance C

oil honey pencil

v C) Substance A | Substance B | Substance C

green beans |[honey oxygen

D) [substance A |Substance B |Substance C

honey oil oxygen
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 29th Jul 2020

Last Modified: N/A

QID#: 22,719,902

Qu estion 8 Primary 4 Science » Primary 4 Science (Term 1) 2 pts

During a science lesson, Mrs. Loh filled a long balloon with air and then twisted it

so that it looked like a dog as shown below.

From the above activity, what properties of the air in the balloon is she trying to

show to the class?

A No fixed mass
B No fixed shape
C No fixed volume

A) AandB only
B) Aand C only

v' C) Band Conly

D) A BandC

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 29th Jul 2020

Last Modified: N/A

QID#: 22,719,932

Question 9 Primary 4 Science » Primary 4 Science (Term 1) 0 pts

For each question, write your answers in the space provided.
(4 x 2 marks = 8 Marks)

Michelle wanted to find out how much light could pass through four different types of materials, namely

A, B, C and D. The amount of light that passed through each material was measured using a light
sensor and the findings are shown in the graph below.
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Amount of light allowed
to pass through (lux)

A

> Material

From the graph, which material, A, B, C or D, should Michelle choose to make the display boxes for her
bakery? Why?

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 29th Jul 2020
Last Modified: N/A
QID#: 22,720,056

Correctly answered feedback

Material B. This is because Michelle wants to display food that is baked by her to people, hence,
Material B is chosen because it allows most light to pass through as compared to the other
materials.

Incorrectly answered feedback

Material B. This is because Michelle wants to display food that is baked by her to people, hence,
Material B is chosen because it allows most light to pass through as compared to the other
materials.

QU estion 10 Primary 4 Science » Primary 4 Science (Term 1) 1 pt
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The diagram below shows a 400 cm?®jar containing 200 cm? of water and a pump

containing 150 cm® of air. When the plunger is pushed all the way down, the air in
the pump goes into the jar.

plunger

pER 150 cm?® of air

— jar

200 cm?® of water

What is the volume of the air in the jar after the plunger is pushed down completely?

Accepted answers:
v’ 200cm3

v’ 200 cm3

Question Type: Free Text

Date Added: Wed 29th Jul 2020
Last Modified: N/A
QID#: 22,720,082

Correctly answered feedback

200cm?
200 cm?

Incorrectly answered feedback

200cm3
200 cm?3

Question 11 Primary 4 Science » Primary 4 Science (Term 1) 0 pts
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The diagram below shows a 400 cm?jar containing 200 cm? of water and a pump
containing 150 cm? of air. When the plunger is pushed all the way down, the air in
the pump goes into the jar.

plunger

pump 150 cm? of air

—— 200 cm? of water

What does this experiment show about the property of the air?

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 29th Jul 2020
Last Modified: N/A
QID#: 22,720,093

Correctly answered feedback
Air can be compressed.

Incorrectly answered feedback
Air can be compressed.

QU estion 12 Primary 4 Science » Primary 4 Science (Term 1) 1 pt
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In the experimental set-up below, Adriana placed a metal ball between the torch

and the screen. A shadow is formed on the screen as shown. The height of the

shadow was recorded in a table.

torch

light rays
metal ball

X cm ycm

-

screen

Adriana repeated the experiment a few times by changing the distance of the torch
from the metal ball. Then she measured the height of the shadows and recorded
them in the table below. The table below shows the height of the shadows at each

of the different distances.

Distance of the torch Distance between the .

from the metal ball (x) | metalball and screen (y) | Height °::hf; shadow

m

‘{cm) (cm)

10 10 15

: 10 17

f 10 19

10 21

Based on the information given in the table above, which letter, Q, R or S, represents the smallest
distance between the torch and the metal ball?

Accepted answers:
v’ The letter S
v's

v’ Letter S

Question Type: Free Text

Date Added: Wed 29th Jul 2020

Last Modified: N/A
QID#: 22,720,356
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In the experimental set-up below, Adriana placed a metal ball between the torch

and the screen. A shadow is formed on the screen as shown. The height of the

shadow was recorded in a table.

torch

metal ball

light rays

xXcm

ycm

-

screen

Adriana repeated the experiment a few times by changing the distance of the torch
from the metal ball. Then she measured the height of the shadows and recorded
them in the table below. The table below shows the height of the shadows at each

of the different distances.

Distance of the torch Distance between the .
from the metal ball (x) | metal-ball and screen (y) Height 0::23 shadow
“{cm) ' (cm)
10 i 10 15
Q : 10 17
R f 10 19
s E 10 21

Give a reason for your answer in the question before.

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 29th Jul 2020
Last Modified: N/A
QID#: 22,720,365

Correctly answered feedback
The height of the shadow is the greatest.

Incorrectly answered feedback
The height of the shadow is the greatest.

Primary 4 Science » Primary 4 Science (Term 1) 1 pt

Question 14
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Two beakers, A and B, were placed on the table as shown below. Beaker A was
filled with pebbles to the 50 ml mark. Beaker B was filled with water to the 100 ml

mark.
100 ml P pa—— prncis.
50 ml T —
L2 air spaces L—_:_—-— —)
Beaker A Beaker B

All the water in Beaker B was then poured into Beaker A. What will be the new volume of the contents
in Beaker A now?

Choose the correct answer that represents the new volume.

v' A) Less than 150 cm3

B) More than 150 cm3

C) 150 cm3
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 29th Jul 2020
Last Modified: N/A
QID#: 22,720,383
Question 15 Primary 4 Science » Primary 4 Science (Term 1)

Two beakers, A and B, were placed on the table as shown below. Beaker A was
filled with pebbles to the 50 ml mark. Beaker B was filled with water to the 100 ml

mark.
100 wp—— e
50 ml T —
r air spaces L—___-:—-— -
Beaker A Beaker B

Explain your answer in the question before.

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 29th Jul 2020
Last Modified: N/A
QID#: 22,720,387

Correctly answered feedback

Due to air spaces in between the pebbles, water will take up the air spaces in between the pebbles
when water from Beaker B is poured into Beaker A.

Incorrectly answered feedback

Due to air spaces in between the pebbles, water will take up the air spaces in between the pebbles
when water from Beaker B is poured into Beaker A.
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